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30-kW 1.1 6.1 10 5.0 9 11 16 20 26 30 33 

30-kW 1.3 6.8 10 5.0 10 13 18 23 31 34 39 

30-kW 1.3 6.8 14 7.0 11 15 20 26 34 41 46 

49-kW 1.6 7.7 16 9.2 13 18 25 34 41 50 56 

49-kW 1.8 8.3 16 9.2 14 20 28 38 45 55 62 

49-kW 2.2 9.6 17 9.8 16 22 33 44 52 64 73 

85-kW 2.4 11.3 17 10.6 22 28 40 53 64 75 81 

85-kW 2.7 12.9 17 10.6 26 32 46 60 73 82 89 

85-kW 3.2 14.7 17 10.6 28 34 49 64 77 90 102 

122-kW 3.8 18.3 19 12.6 33 43 68 75 93 108 120 

122-kW 4.2 20.0 19 12.6 36 48 70 89 108 126 143 

122-kW 4.6 21.1 19 12.6 38 52 73 95 116 137 156 
 

ΔT = Temperature difference between Primary (HOT) and Secondary (POOL) 

To calculate BTU multiply kW x 3412 

kW x 3412 = BTU Output 

 


